Mathematics 3200
Test Unit 2

Part A : Place the letter corresponding to the correct answer to each of the following on the blank at

the right.

1. Which is true for the function y+3= f (2x+8) when comparedto y = f(X)?

Horizontal Translation ‘ Vertical Translation
A) 8 Left 3 Down
B) 4 Left 3 Down
Q) 4 Right 3Up
D) 8 Right 3Up

2. Given the graph of y =g(X), what is the range?
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(A) [-5,5] (B) [4.5]
(©) (-5,5) (D) (—4,5)

3. Given the graph of f (X) = x* +3below, what is the domain of f *(x) ?
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(A) {x/x=>0,xeR} (B) {x/x>3,xeR}
(©) {y/y=0,yeR} (D) {y/y>3,yeR}
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4. What is the vertical stretch factor of y =a(f (b(x)) when comparedto y= f(x)? 4.
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()2 ()3

1 1

5. What is the correct order of transformations for the graph of y =2(f (-3(x—1)) whento 5.

comparedto y= f(x)?

(A) » Stretched vertically by a factor of 2 about the x axis
« Stretched horizontally by a factor of 3 about the y axis
* Reflected in the y axis
 Horizontal translation of 1 unit right

(B) * Horizontal translation of 1 unit right
« Stretched vertically by a factor of 2 about the x axis

1
« Stretched horizontally by a factor of g about the y axis

 Reflected in the y axis

(C) e Stretched vertically by a factor of 2 about the x axis
1
« Stretched horizontally by a factor of g about the y axis

« Reflected in the y axis
* Horizontal translation of 1 unit right

(D

~—

1
e Stretched vertically by a factor of E about the x axis

1
« Stretched horizontally by a factor of 5 about the y axis

* Reflected in the x axis
 Horizontal translation of 1 unit right
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6. Which mapping notation transforms y = f (X) into y =% f(—2(x+4))+6 ? 6.

(A) (X, y)—{—%x—4, 2y+6] (B) (X,y) —>(—2x+4, 2y +6)
1 1 1

() (x, y)—>(—§x—4,§y+6J (D) (X, y)—>(—2x—4,§y—6j
7. Given the function f(X)=5x—6, whatis f(x) ? 7.

(A) f(x)=5x-6 (B) f’l(x)=1x+§

5 5
1 1

Q) f'(X)==x+6 D) f*(X)=

© f109=2 0) 1700 =—¢
8. The point (2, —3) is on the graphof y=f (X), what is the image point for the 8.

transformation y+1=2(f(x-3)) ?

(A (5,-7) 8) (L -2)
(©) (-2,-4) (D) (0,3)

9. Given the function f(X)= (X+4)2 —6, which of the following restriction must be applied 9.

to f(x)sothat f () isa function?

(A) {x/x>4,xeR} (B) {x/x>—4,xeR}

(C) {x/x>-6,xeR} (D) {y/y=-6,yeR}

10. Given the function f(X)=2x*+10, whatis f *(x)? 10.
a 1 . 1

(A) f (x):i,/Ex—lo B) f~(x)==x /5x+10

(€ fH(x)==+ x—210 D) f(x)== X+210
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11. Which of the following functions has an inverse that is a function ? 11.

(A) (B)

(C) (D)

12. What are zeros of the function y = f(X) after the transformation of y= f(-2x)? 12.

(A) {-4, 8}
(c) {4, -8}
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13. Which function best represents y = g(X) when comparedto y = f(x)? 13._

\\ ? y;g(x)
t §
y=f(x)
1 1
(A) y=§f(x+2)+3 (B) y:Ef(x—2)+3
1 1
(C)yzif(x+2)—3 (D)y=Ef(x—2)—3
14. Which of the following is the graph of the inverse of y = f (x) ? 14.
T
/ ~8-
(A) (B)
¥ y=f' y=1"tx ¥
() (D)
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15. Which is true for the function y+2=-3 f (4X+8) when comparedto y = f(x)? 15.

(A) % -3

(B) L 3

(C) 4

(D) 4 -3
4
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Part B: Answer all questions and show your workings.

1. Given the graph of the function y = f (X) shown, Sketch the graph of y =2 f(-3(x+1)-2.
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2. The graph of y = f (X) with points A(5,3), B(3,6), C(—1,—3) is transformed so that
A'(-9,-1), B'(-5,0), C'(3,—-3). Plot the points and determine the equation of the image
function in the form y =a f (b(x—h))+k. (4 marks)
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g(X) when compared to y = f(X) . (3 marks)

3. Determine the equation of Y
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4. Given the graph of the function y = f (X) below, sketch the graph of the inverse of
y =31 (-2(x—2))—1. (4 marks)
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5.(a) If f(X)=2x*+12x+11, what restriction could be placed on f (X)so that f *(x) ? (2 marks)

(b) Find f *(X) with the restricted domain for the equation in part (a). (3 marks)

11| Page



